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Mixed Numbers and Improper Fractions

Convert these mixed numbers into improper fractions.

 5
 2 5  =  5  6

 1 6  =  6  9
 2 1  =  9  5

 2 2  =  5

 8
 1 2  =  8  5

 2 3  =  5  4
 3 5  =  4  8

 1 4  =  8

 9
 2 1  =  9  4

 2 2  =  4  6
 2 3  =  6  3

 2 5  =  3

 3
 1 2  =  3  6

 2 5  =  6  8
 1 3  =  8  9

 1 1  =  9

 5
 2 9  =  5  3

 2 7  =  3  3
 1 5  =  3  7

 2 4  =  7

 7
 2 2  =  7  7

 2 1  =  7  8
 1 1  =  8  6

 1 4  =  6

 4
 2 5  =  4  4

 2 1  =  4  2
 1 2  =  2  7

 4 3  =  7

 8
 7 5  =  8  6

 2 4  =  6  7
 2 2  =  7

 6
 1 2  =  6  3

 1 3  =  3  3
 1 1  =  3
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Answers

Convert these mixed numbers into improper fractions.

 5
 2 5  =  5

 27
 6
 1 6  =  6

 37
 9
 2 1  =  9

 11
 5
 2 2  =  5

 12

 8
 1 2  =  8

 17
 5
 2 3  =  5

 17
 4
 3 5  =  4

 23
 8
 1 4  =  8

 33

 9
 2 1  =  9

 11
 4
 2 2  =  4

 10
 6
 2 3  =  6

 20
 3
 2 5  =  3

 17

 3
 1 2  =  3

 7
 6
 2 5  =  6

 32
 8
 1 3  =  8

 25
 9
 1 1  =  9

 10

 5
 2 9  =  5

 47
 3
 2 7  =  3

 23
 3
 1 5  =  3

 16
 7
 2 4  =  7

 30

 7
 2 2  =  7

 16
 7
 2 1  =  7

 9
 8
 1 1  =  8

 9
 6
 1 4  =  6

 25

 4
 2 5  =  4

 22
 4
 2 1  =  4

 6
 2
 1 2  =  2

 5
 7
 4 3  =  7

 25

 8
 7 5  =  8

 47
 6
 2 4  =  6

 26
 7
 2 2  =  7

 16

 6
 1 2  =  6

 13
 3
 1 3  =  3

 10
 3
 1 1  =  3

 4


